

District:

#### Florida Department of Transportation

12/01/2023

Vendor Ranking Page 1 of 1 Letting: 04231201

December 01, 2023 10:30 Call Order: 009 Contract: E4X15

District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 730 AVAILABLE DAYS

**Project(s):** 42924955201 (\*)

Contract Desc: BROWARD COUNTY PUSH BUTTON CONTRACT TRAFFIC OPS - ROADWAY

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Winning bid	\$2,900,020.00	100.00%
2	WEEKLEY ASPHALT PAVING, INC.	Responsive	Non-Winning Bid	\$3,780,182.00	130.35%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: **BEGIN TIME:** 10:30 AM 12/22/23

> END DATE: 01/03/24 END TIME: 10:30 AM

NOTE: The award amount shall be based on the budgeted amount of \$1,000,000.00 and not the contractors bid total over the two (2) year term of the contract.



12/01/2023

**Tabulation of Bids** Page 1 of 22

 Letting:
 04231201
 December 01, 2023
 Call Order:
 009
 Contract:
 E4X15

 District:
 District 4
 Counties:
 BROWARD
 Fed Aid No:
 N/A

Contract Time: 730 AVAILABLE DAYS Project(s): 42924955201 (\*)

#### Contract Descr: BROWARD COUNTY PUSH BUTTON CONTRACT TRAFFIC OPS - ROADWAY

The Improvements, implemented by individual Task Work Order(s)/Work Document(s) under this Contract, consist of, but are not limited to, asphalt (milling and resurfacing, miscellaneous), concrete (removals, gravity wall, curb, gutter, traffic separator, sidewalk, driveways), earthwork, handrail (pipe), guardrail (removal), signing (single post, multi-post, panel, work zone), pavement markings (tubular marker, raised marker, object marker, detectable, paver, painted, thermoplastic), conduit, pull/splice box, strain pole (removal), lighting (conductors, pole complete), drainage (inlets), electrical (service wire, load center), utilities adjustments (valve box), and sod throughout Broward County.

WORK DRIVEN CONTRACT: The award amount shall be based on the Department Budget Estimate of \$1,000,000.00 and not the contractors bid total over the two (2) year term of the contract.

- •The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed.
- •For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.
- •PRE-QUALIFIED: Contractor must be pre-qualified.
- •PERFORMANCE BOND: A Contract / Performance bond is required for this project.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2023-24 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Alternate Quantity Item Description Units	(1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA	(2) WEEKLEY ASPHALT PAVING, INC.	
() indicates item is bid as Lump Sum	Unit Price Ext Amount	Unit Price Ext Amount	Unit Price Ext Amount
SECTION: 0001 Roadway			
0005 0101 1 1 (1.000)	100,000.00000 100,000.00	100,000.00000 100,000.00	
MOBILIZATION- FOR WORK LS ORDER/PUSH BUTTON CONTRACTS (DO NOT BID) 42924955201			



**12/01/2023**Page 2 of 22

Letting:	042	231201 [	December 01, 2	2023 <b>Call</b>	Order: 009		Contract:	E4X15	
	o / Item ID escription	Alternate	Quantity Units	(1) ROGAR MAN CONSULTING O	OF FLORIDA	(2) WEEKLE' PAVING			
() indica	ates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION:	0001	Roadway						
	102 14 CONTROL O	FFICER	60.000 HR	72.00000	4,320.00	85.00000	5,100.00		
0015 0 WORK ZO	102 60 NE SIGN		3,000.000 ED	1.00000	3,000.00	0.50000	1,500.00		
TEMPORA	102 71 13 ARY BARRIEI CONCRETE	R, F&I, LOW	300.000 LF	48.00000	14,400.00	50.00000	15,000.00		
		R, F&I, FREE	300.000 LF	48.00000	14,400.00	60.00000	18,000.00		
		CE-TYPES I, II	4,000.000 , DI, ED	3.50000	14,000.00	0.55000	2,200.00		
CHANNEL		E- PEDESTRI CHANNELIZIN		1.00000	400.00	0.55000	220.00		
		ANCE WARNI	200.000 NG ED	15.00000	3,000.00	25.00000	5,000.00		
TEMPORA	102 89 1 ARY CRASH ( TIVE OPTION		5.000 LO	4,900.00000	24,500.00	4,900.00000	24,500.00		



12/01/2023

#### **Tabulation of Bids**

Page 3 of 22

Letting:	042312	201 D	ecember 01,	2023 <b>Call</b>	Order: 009		Contract:	E4X15	
Line No / Iter		Alternate	Quantity Units	(1) ROGAR MAN CONSULTING (	OF FLORIDA	(2) WEEKLE' PAVING			
() indicates ite	m is bid as Lu	ımp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ON: 0001	l F	Roadway						
0050 0102 99 PORTABLE CHA SIGN, TEMPOR	NGEABLE	MESSAGE	300.000 E ED	28.00000	8,400.00	30.00000	9,000.00		
0055 010211 TYPE III BARRIO			150.000 ED	20.00000	3,000.00	1.00000	150.00		
0060 0104 10 SEDIMENT BAR			650.000 LF	10.00000	6,500.00	4.00000	2,600.00		
0065 0104 18 INLET PROTEC		EM	25.000 EA	100.00000	2,500.00	150.00000	3,750.00		
0070 0110 2 CLEARING & GI BUTTON CONT	RUBBING (F	PUSH	0.500 AC	25,000.00000	12,500.00	30,000.00000	15,000.00		
0075 0110 4 REMOVAL OF E		ONCRETE	200.000 SY	50.00000	10,000.00	65.00000	13,000.00		
0080 0120 1 REGULAR EXC			400.000 CY	40.00000	16,000.00	50.00000	20,000.00		
0085 0120 2 BORROW EXCA MEASURE		RUCK	200.000 CY	60.00000	12,000.00	50.00000	10,000.00		
0090 0120 6 EMBANKMENT			300.000 CY	60.00000	18,000.00	45.00000	13,500.00		



12/01/2023

Tabulation of Bids								Page 4 of 2
<b>Letting:</b> 042312	201 Dec	cember 01,	2023 Call	Order: 009		Contract:	E4X15	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) ROGAR MAN CONSULTING (	OF FLORIDA	(2) WEEKLEY PAVING			
() indicates item is bid as Lu	ımp Sum	O.m.o	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 000	I Ro	adway	ı			1		
0095 0160 4 TYPE B STABILIZATION		100.000 SY	10.00000	1,000.00	20.00000	2,000.00		
0100 0285709 OPTIONAL BASE, BASE GF	ROUP 09	100.000 SY	90.00000	9,000.00	79.00000	7,900.00		
0105 0285711 OPTIONAL BASE, BASE GF	ROUP 11	200.000 SY	105.00000	21,000.00	85.00000	17,000.00		
0110 0285715 OPTIONAL BASE, BASE GF	ROUP 15	200.000 SY	135.00000	27,000.00	95.00000	19,000.00		
0115 0327 70 1 MILLING EXISTING ASPHA PAVEMENT, 1" AVG DEPTI		400.000 SY	22.00000	8,800.00	50.00000	20,000.00		
0120 0327 70 6 MILLING EXISTING ASPHA PAVEMENT, 1 1/2" AVG DE		1,500.000 SY	22.00000	33,000.00	50.00000	75,000.00		
0125 0334 1 13 SUPERPAVE ASPHALTIC ( FRAFFIC C	CONC,	30.000 TN	450.00000	13,500.00	1,000.00000	30,000.00		
0130 0334 1 53 SUPERPAVE ASPHALTIC ( TRAFFIC C, PG76-22	CONCRETE,	70.000 TN	450.00000	31,500.00	1,000.00000	70,000.00		
0135 0334 1 55 SUPERPAVE ASPHALTIC ( TRAFFIC E, PG76-22	CONCRETE,	70.000 TN	450.00000	31,500.00	1,000.00000	70,000.00		



0180 0425 1361 INLETS, CURB, TYPE P-6, <10'

## Florida Department of Transportation Tabulation of Bids

**12/01/2023**Page 5 of 22

04231201 E4X15 Letting: December 01, 2023 Call Order: 009 Contract: (1) ROGAR MANAGEMENT & (2) WEEKLEY ASPHALT Line No / Item ID Alternate Quantity CONSULTING OF FLORIDA PAVING, INC. Item Description Units Unit Price LLC Ext Amount () indicates item is bid as Lump Sum **Unit Price** Ext Amount Unit Price **Ext Amount** SECTION: 0001 Roadway 0140 0337 7 25 70.000 450.00000 31,500.00 1,000.00000 70,000.00 ASPHALT CONCRETE FRICTION TN COURSE, INC BIT, FC-5, PG 76-22 0145 0337 7 82 450.00000 31,500.00 1,000.00000 70,000.00 70.000 ASPHALT CONCRETE FRICTION TN COURSE, TRAFFIC C, FC-9.5, PG 76-22 0150 0337 7 83 70.000 450.00000 31,500.00 1,000.00000 70,000.00 ASPHALT CONCRETE FRICTION TN COURSE, TRAFFIC C, FC-12.5, PG 76-22 0155 0337 7 88 70.000 450.00000 31,500.00 1,000.00000 70,000.00 ASPHALT CONCRETE FRICTION TN COURSE, TRAFFIC E, FC-12.5, PG 76-22 0160 0339 1 40.000 450.00000 18,000.00 850.00000 34,000.00 MISCELLANEOUS ASPHALT PAVEMENT ΤN 2,100.00000 84,000.00 1,200.00000 48,000.00 0165 0400 0 11 40.000 CONCRETE CLASS NS, GRAVITY WALL CY INDEX 400-011 0170 0425 1351 2.000 14,000.00000 28,000.00 14,000.00000 28,000.00 INLETS, CURB, TYPE P-5, <10' EΑ 0175 0425 1355 2.000 14.000.00000 28.000.00 8.000.00000 16.000.00 INLETS, CURB, TYPE P-5, PARTIAL EΑ

28,000.00

17,000.00000

34,000.00

2.000

EΑ

14,000.00000



**12/01/2023**Page 6 of 22

<b>Letting:</b> 04231201 Dec	ember 01,	2023 Cal	Order: 009		Contract:	E4X15	
Line No / Item ID Alternate Item Description	Quantity Units	(1) ROGAR MAI CONSULTING	OF FLORIDA	(2) WEEKLEY PAVING			
() indicates item is bid as Lump Sum	00	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roa	adway						
0185 0425 1365 INLETS, CURB, TYPE P-6, PARTIAL	2.000 EA	14,000.00000	28,000.00	9,500.00000	19,000.00		
0190 0425 1910 INLETS, CLOSED FLUME	2.000 EA	14,000.00000	28,000.00	5,000.00000	10,000.00		
0195 0425 2 41 MANHOLES, P-7, <10'	2.000 EA	14,000.00000	28,000.00	12,000.00000	24,000.00		
0200 0425 2 43 MANHOLES, P-7, PARTIAL	2.000 EA	14,000.00000	28,000.00	6,000.00000	12,000.00		
0205	5.000 EA	2,000.00000	10,000.00	600.00000	3,000.00		
0210 0430173118 PIPE CULVERT OPTIONAL MATERIAL, ROUND, 18", GUTTER DRAIN	20.000 LF	500.00000	10,000.00	500.00000	10,000.00		
0215 0430173124 PIPE CULVERT OPTIONAL MATERIAL, ROUND, 24", GUTTER DRAIN	20.000 LF	500.00000	10,000.00	700.00000	14,000.00		
0220 0515 1 2 PIPE HANDRAIL - GUIDERAIL, ALUMINUM	45.000 LF	200.00000	9,000.00	300.00000	13,500.00		
0225 0520 1 10 CONCRETE CURB & GUTTER, TYPE F	400.000 LF	75.00000	30,000.00	75.00000	30,000.00		



**12/01/2023**Page 7 of 22

							1 490 1 012
<b>Letting:</b> 04231201 Dec	ember 01, 2	2023 <b>Call C</b>	Order: 009		Contract:	E4X15	
Line No / Item ID Alternate Item Description	Quantity Units	(1) ROGAR MANA CONSULTING OF		(2) WEEKLEY PAVING			
() indicates item is bid as Lump Sum		Unit Price I	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roa	idway						
0230 0520 2 4 CONCRETE CURB, TYPE D	400.000 LF	75.00000	30,000.00	60.00000	24,000.00		
0235 0520 5 41 TRAFFIC SEPARATOR CONCRETE- TYPE IV, 4' WIDE	100.000 LF	100.00000	10,000.00	160.00000	16,000.00		
0240 0520 70 CONCRETE TRAFFIC SEPARATOR, SPECIAL-VARIABLE WIDTH	100,000 SY	100.00000	10,000.00	200.00000	20,000.00		
0245 0522 1 CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK	300.000 SY	144.00000	43,200.00	100.00000	30,000.00		
0250 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	100.000 SY	164,00000	16,400.00	190.00000	19,000.00		
0255 0523 3 PATTERNED PAVEMENT	150.000 SY	88.00000	13,200.00	300.00000	45,000.00		
0260 0526 1 2 PAVERS, ARCHITECTURAL, SIDEWALK	75.000 SY	88.00000	6,600.00	255.00000	19,125.00		
0265 0527 2 DETECTABLE WARNINGS	150.000 SF	100.00000	15,000.00	65.00000	9,750.00		
0270 0536 1 0 GUARDRAIL -ROADWAY, GENERAL/LOW SPEED TL-2	500.000 LF	61.00000	30,500.00	40.00000	20,000.00		



**12/01/2023**Page 8 of 22

Tabulation of Bids	

<b>Letting</b> : 04231201 [	December 01,	2023 <b>Cal</b>	Order: 009		Contract:	E4X15	
Line No / Item ID Alternate Item Description	Quantity Units	(1) ROGAR MAN	OF FLORIDA	(2) WEEKLEY PAVING			
() indicates item is bid as Lump Sum	00	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway						
0275 0536 1 1 GUARDRAIL -ROADWAY, GENERAL	500.000 TL-3 LF	61.00000	30,500.00	45.00000	22,500.00		
0280 0536 73 GUARDRAIL REMOVAL	100.000 LF	21.00000	2,100.00	9.00000	900.00		
0285 0538 1 GUARDRAIL RESET	100.000 LF	42.00000	4,200.00	15.00000	1,500.00		
0290 0544 2 1 CRASH CUSHION, TL-2, NARROW	2.000 EA	61,000.00000	122,000.00	20,000.00000	40,000.00		
0295 0544 2 2 CRASH CUSHION, TL-2, WIDE	2.000 EA	61,000.00000	122,000.00	35,000.00000	70,000.00		
0300 0544 3 1 CRASH CUSHION, TL-3, NARROW	2.000 EA	61,000.00000	122,000.00	35,000.00000	70,000.00		
0305 0544 3 2 CRASH CUSHION, TL-3, WIDE	2.000 EA	61,000.00000	122,000.00	50,000.00000	100,000.00		
0310 0570 1 1 PERFORMANCE TURF	500.000 SY	20.00000	10,000.00	9.00000	4,500.00		
0315 0570 1 2 PERFORMANCE TURF, SOD	800.000 SY	15.00000	12,000.00	9.00000	7,200.00		



# Florida Department of Transportation Tabulation of Bids

12/01/2023

Letting:	04	1231201	December 01,	2023 <b>Ca</b>	II Order: 009		Contract:	E4X15	
	o / Item ID escription	Alternat	te Quantity Units	(1) ROGAR MA CONSULTING	OF FLORIDA	(2) WEEKLE PAVING			
() indica	tes item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
5	SECTION:	0001	Roadway						
	630 2 11 FURNISH 8	& INSTALL, O	300.000 PEN LF	30.00000	9,000.00	65.50000	19,650.00		
		& INSTALL,	300.000 LF	80.00000	24,000.00	89.50000	26,850.00		
SIGNAL CA		ΓHER, FURNI	100 <u>.</u> 000 LF SH &	40.00000	4,000.00	19.60000	1,960.00		
		F&I, 13" x 24'	5.000 EA	2,000.00000	10,000.00	3,135.00000	15,675.00		
		F&I, 24" X 36	5.000 " EA	6,000.00000	30,000.00	5,940.00000	29,700.00		
		E WIRE, FUR	50.000 RNISH LF	25.00000	1,250.00	20.30000	1,015.00		
	639 2 6 :AL SERVIC	E WIRE, REN	50.000 MOVE LF	40.00000	2,000.00	1.00000	50.00		
		CRETE POLE	4.000 i, F&I, EA	7,000.00000	28,000.00	6,392.00000	25,568.00		



LIGHTING CONDUCTORS, F&I, INSULATED, NO.8 - 6

LIGHTING CONDUCTORS, F&I, INSULATED, NO 4 TO NO 2

0400 0715 1 13

Letting:

04231201

December 01, 2023

LF

LF

300.000

20.00000

#### Florida Department of Transportation

**12/01/2023**Page 10 of 22

Contract: E4X15

#### **Tabulation of Bids**

Call Order: 009

Line No / Item ID Alternate Item Description	Quantity Units	(1) ROGAR MAN CONSULTING	OF FLORIDA	(2) WEEKLEY PAVING			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Re	oadway						
0360 0643600 STRAIN POLE, WOOD, REMOVE	4.000 EA	7,000.00000	28,000.00	4,205.00000	16,820.00		
0365 0653 1 11 PEDESTRIAN SIGNAL, FURNISH & INSTALL LED COUNTDOWN, 1 WAY	5.000 AS	5,000.00000	25,000.00	2,470.00000	12,350.00		
0370 0653 1 12 PEDESTRIAN SIGNAL, FURNISH & INSTALL LED COUNTDOWN, 2 WAYS	5.000 AS	5,000.00000	25,000.00	3,700.00000	18,500.00		
0375 0665 1 11 PEDESTRIAN DETECTOR, FURNISH 8 INSTALL, STANDARD	4.000 k EA	3,000.00000	12,000.00	810.00000	3,240.00		
0380 0665 1 12 PEDESTRIAN DETECTOR, FURNISH 8 INSTALL, ACCESSIBLE	5.000 k EA	7,000.00000	35,000.00	8,358.00000	41,790.00		
0385 0665 1 40 PEDESTRIAN DETECTOR, RELOCATE	3.000 E EA	3,000.00000	9,000.00	995.00000	2,985.00		
0390 0665 1 60 PEDESTRIAN DETECTOR, REMOVE- POLE/PEDESTAL TO REMAIN	3.000 EA	1,000.00000	3,000.00	188.00000	564.00		
0395 0715 1 12	300.000	20.00000	6,000.00	7.00000	2,100.00		

6,000.00

9.95000

2,985.00



**12/01/2023**Page 11 of 22

							3
<b>Letting:</b> 04231201 Dece	ember 01,	2023 <b>Call</b>	Order: 009		Contract:	E4X15	
Line No / Item ID Alternate Item Description	Quantity Units	(1) ROGAR MAN CONSULTING (	OF FLORIDA	(2) WEEKLEY PAVING			
() indicates item is bid as Lump Sum		Unit Price LLC	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roa	idway						
0405 0715 1 60 LIGHTING CONDUCTORS, REMOVE & DISPOSE, CONTRACTOR OWNS	300.000 LF	20.00000	6,000.00	0.95000	285.00		
0410 0715 7 11 LOAD CENTER, F&I, SECONDARY VOLTAGE	2.000 EA	15,000.00000	30,000.00	56,000.00000	112,000.00		
0415 0715 11211 LUMINAIRE, F&I- REPLACE EXISTING LUMINAIRE ON EXISTING POLE/ARM, ROADWAY, COBRA HEAD	20.000 EA	2,600.00000	52,000.00	3,610.00000	72,200.00		
0420 0715 61421 LIGHT POLE COMPLETE, F&I, STANDARD POLE STANDARD FOUNDATION, 45' MOUNTING HEIGHT, 10' ARM LENGTH	2.000 EA	18,000.00000	36,000.00	23,560.00000	47,120.00		
0425 0715 61542 LIGHT POLE COMPLETE, F&I, STANDARD POLE STANDARD FOUNDATION, 50' MOUNTING HEIGHT, 12' ARM LENGTH	2.000 EA	18,000.00000	36,000.00	26,000.00000	52,000.00		
0430 0715 62442 LIGHT POLE COMPLETE, F&I, STANDARD POLE SPECIAL FOUNDATION, 45' MOUNTING HEIGHT, 12' ARM LENGTH	2.000 EA	18,000.00000	36,000.00	33,000.00000	66,000.00		
0435 0715 68000 LIGHT POLE COMPLETE, RELOCATE	2.000 EA	15,000.00000	30,000.00	11,500.00000	23,000.00		



**12/01/2023**Page 12 of 22

Tabulation of Bids
--------------------

<b>Letting:</b> 04231201 De	cember 01,	2023 <b>Cal</b>	l Order: 009		Contract:	E4X15	
Line No / Item ID Alternate Item Description	Quantity Units	(1) ROGAR MAI CONSULT <b>I</b> NG	OF FLORIDA	(2) WEEKLEY PAVING			
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Ro	oadway						
0440 0715 69000 LIGHT POLE COMPLETE, REMOVE POLE AND FOUNDATION	2.000 EA	4,000.00000	8,000.00	3,600.00000	7,200.00		
0445 0715 69001 LIGHT POLE COMPLETE, REMOVE POLE, FOUNDATION REMAINS	2.000 EA	4,000.00000	8,000.00	2,000.00000	4,000.00		
0450 0715500 1 POLE CABLE DISTRIBUTION SYSTEM FURNISH AND INSTALL, CONVENTIONAL	2.000 , EA	4,000.00000	8,000.00	2,800.00000	5,600.00		
0455 0715511130 LIGHT POLE COMPLETE- SPECIAL DESIGN, F&I, SINGLE ARM SHOULDE MOUNT, ALUMINUM, 30'	2.000 EA R	25,000.00000	50,000.00	22,000.00000	44,000.00		
0001 Roadway Sect	ion Totals:		\$2,215,170.00		\$2,319,602.00		
SECTION: 0002 Si	gning						
0460 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	15.000 AS	1,500.00000	22,500.00	600.00000	9,000.00		
0465 0700 1 12 SINGLE POST SIGN, F&I GROUND MOUNT, 12-20 SF	5.000 AS	1,500.00000	7,500.00	1,600.00000	8,000.00		
0470 0700 1 13 SINGLE POST SIGN, F&I GROUND MOUNT, 21-30 SF	5.000 AS	1,500.00000	7,500.00	2,000.00000	10,000.00		



12/01/2023

Tabulation of Bids	Dogg 12 of 22
rabulation of blus	Page 13 of 22

Letting:	04231201	1 Dece	ember 01,	2023 <b>Cal</b>	Order: 009		Contract:	E4X15	
Line No / Item Des		ternate	Quantity Units	(1) ROGAR MAN	OF FLORIDA	(2) WEEKLEY PAVING			
() indicates	s item is bid as Lum	o Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0002	Sigr	ning						
SINGLE POS	0 1 21 ST SIGN, F&I BAR EX 11871/700-013		5.000 AS	6,000.00000	30,000.00	3,000.00000	15,000.00		
SINGLE POS	0 1 22 ST SIGN, F&I BAR EX 11871/700-013		5.000 AS	6,000.00000	30,000.00	3,500.00000	17,500.00		
SINGLE POS	0 1 32 ST SIGN, F&I BRID EX 11870/700-012		5.000 AS	6,000.00000	30,000.00	3,000.00000	15,000.00		
	0 150 ST SIGN, RELOCA	ATE	12.000 AS	500.00000	6,000.00	500.00000	6,000.00		
	0 160 ST SIGN, REMOV	E	15.000 AS	1,500.00000	22,500.00	50.00000	750.00		
	0 2 11 T SIGN, F&I GRO TO 12 SF	UND	5.000 AS	4,000.00000	20,000.00	3,300.00000	16,500.00		
	0 2 12 T SIGN, F&I GRO -20 SF	UND	5.000 AS	7,000.00000	35,000.00	5,200.00000	26,000.00		
	0 2 13 T SIGN, F&I GRO -30 SF	UND	5.000 AS	10,000.00000	50,000.00	5,300.00000	26,500.00		



**12/01/2023**Page 14 of 22

Letting:	04	231201	December 01, 2	2023 <b>Call</b>	Order: 009		Contract:	E4X15	
Line No		Alternate	Quantity Units	(1) ROGAR MAN	OF FLORIDA	(2) WEEKLE' PAVING			
() indicate	es item is bid	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION:	0002	Signing						
		&I GROUND	5.000 AS	10,000.00000	50,000.00	6,500.00000	32,500.00		
		&I GROUND	5.000 AS	15,000.00000	75,000.00	15,500.00000	77,500.00		
		ROUND MOU	5.000 INT, AS	4,000.00000	20,000.00	5,200.00000	26,000.00		
0530 070 MULTI- POS	00 260 ST SIGN, R	EMOVE	5.000 AS	2,500.00000	12,500.00	900.0000	4,500.00		
		H & INSTALL TO 12 SF	5.000 EA	500.00000	2,500.00	00000.008	4,000.00		
		H & INSTALL -20 SF	4.000 EA	500.00000	2,000.00	900.0000	3,600.00		
		H & INSTALL -30 SF	3.000 EA	500.00000	1,500.00	2,450.00000	7,350.00		
		H & INSTALL 201-300 SF	2.000 EA	20,000.00000	40,000.00	33,000.00000	66,000.00		
		H & INSTALL 301-400 SF	2.000 EA	20,000.00000	40,000.00	40,000.00000	80,000.00		



12/01/2023

Page 15 of 22

<b>Letting:</b> 04231201 Dece	mber 01,	2023 Call C	Order: 009		Contract:	E4X15	
Line No / Item ID Alternate (	Quantity Units	(1) ROGAR MANA CONSULTING OF		(2) WEEKLEY PAVING			
() indicates item is bid as Lump Sum		Unit Price LLC	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Sign	ing						
0560 0700 3501 SIGN PANEL, RELOCATE, UP TO 12 SF	5.000 EA	500.00000	2,500.00	600.00000	3,000.00		
0565 0700 3502 SIGN PANEL, RELOCATE, 12-20 SF	4.000 EA	500.00000	2,000.00	920.00000	3,680.00		
0570 0700 3503 SIGN PANEL, RELOCATE, 21-30 SF	3.000 EA	500.00000	1,500.00	1,200.00000	3,600.00		
0575 0700 3601 SIGN PANEL, REMOVE, UP TO 12 SF	5.000 EA	200.00000	1,000.00	250.00000	1,250.00		
0580 0700 3602 SIGN PANEL, REMOVE, 12-20 SF	4.000 EA	200.00000	800.00	500.00000	2,000.00		
0585 0700 3603 SIGN PANEL, REMOVE, 21-30 SF	3.000 EA	1,000.00000	3,000.00	600.00000	1,800.00		
0590 0700 4114 OVERHEAD STATIC SIGN STRUCTURE, FURNISH & INSTALL, CANTILEVER, 41- 50 FT	2.000 EA	4,000.00000	8,000.00	419,000.00000	838,000.00		
0595 0704 1 1 TUBULAR MARKER, DURABLE, 36" WHITE POST	5.000 EA	200.00000	1,000.00	200.00000	1,000.00		



12/01/2023

## **Tabulation of Bids** Page 16 of 22

<b>Letting:</b> 04231201	December 01,	2023 <b>Call C</b>	Order: 009		Contract:	E4X15	
Line No / Item ID Alternate Item Description	Quantity Units	(1) ROGAR MANA CONSULTING O		(2) WEEKLEY PAVING			
() indicates item is bid as Lump Sum		Unit Price LLC	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	Signing						
0600 0704 1 2 TUBULAR MARKER, DURABLE, 36" YELLOW POST	5.000 EA	200.00000	1,000.00	250.00000	1,250.00		
0605 0705 10 1 OBJECT MARKER, TYPE 1	10.000 EA	200.00000	2,000.00	550.00000	5,500.00		
0610 0705 11 1 DELINEATOR, FLEXIBLE TUBULAR	10.000 EA	200.00000	2,000.00	200.00000	2,000.00		
0615 0705 11 6 DELINEATOR, REPLACE DELINEAT ON EXISTING BARRIER	10.000 FOR EA	300.00000	3,000.00	200.00000	2,000.00		
0620 0705 11 11 DELINEATOR POST, FURNISH & INSTALL ON EXISTING BASE	5.000 EA	200.00000	1,000.00	200,00000	1,000.00		
0625 0706 1 3 RAISED PAVEMENT MARKER, TYP	300.000 EB EA	10.00000	3,000.00	10.00000	3,000.00		
0630 0710 11101 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"	0.500 GM	500.00000	250.00	5,000.00000	2,500.00		
0635 0710 11102 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR INTERCHANGE AND URBAN ISLAN	0.500 GM ID, 8"	500.00000	250.00	9,200.00000	4,600.00		



# Florida Department of Transportation Tabulation of Bids

12/01/2023

Page 17 of 22

Letting:	04:	231201	December 01, 2	2023 <b>Call</b>	Order: 009		Contract:	E4X15	
	o / Item ID escription	Alternate	Quantity Units	(1) ROGAR MAN CONSULTING (	OF FLORIDA	(2) WEEKLE PAVING			
() indica	ates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
:	SECTION:	0002	Signing						
PAINTED STANDAR	0710 11123 PAVEMENT RD, WHITE, S ALK AND RO		300.000 LF	5.00000	1,500.00	5.00000	1,500.00		
PAINTED STANDAR	0710 11125 PAVEMENT RD, WHITE, S CROSSWALK	OLID FOR S	150.000 LF TOP	8.00000	1,200.00	8.00000	1,200.00		
PAINTED		MARKINGS, KIP, 10-30 C	0.500 GM DR 3-9	500.00000	250.00	2,500.00000	1,250.00		
PAINTED STANDAR	0710 11141 PAVEMENT RD, WHITE, 2: IE/ 6-10 DOT		0.500 GM SION,	500.00000	250.00	3,000.00000	1,500.00		
PAINTED	0710 11160 PAVEMENT RD, WHITE, M	MARKINGS, IESSAGE OF	15.000 EA	100.00000	1,500.00	500.00000	7,500.00		
PAINTED	0710 11170 PAVEMENT RD, WHITE, A		20.000 EA	100.00000	2,000.00	150.00000	3,000.00		
PAINTED	0710 11201 PAVEMENT RD, YELLOW,		0.500 GM	500.00000	250.00	2,500.00000	1,250.00		



**12/01/2023**Page 18 of 22

Letting:	04	1231201	December 01,	2023 <b>Cal</b>	l Order: 009		Contract:	E4X15	
	lo / Item ID Description	Alternat	e Quantity Units	(1) ROGAR MAI CONSULTING	OF FLORIDA	(2) WEEKLEY PAVING			
() indic	ates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0002	Signing						
PAINTED STANDAF		MARKINGS, /, SOLID FOR RON, 18"	50.000 LF	10.00000	500.00	8.00000	400.00		
PAINTED		MARKINGS, /, ISLAND NC	50.000 SF SE	10.00000	500.00	8.00000	400.00		
THERMOI	FOR INTER	FANDARD, WI RCHANGE AN		10,000.00000	5,000.00	9,200.00000	4,600.00		
THERMOI	2" FOR CRO	FANDARD, WI SSWALK AND		10.00000	2,000.00	5.00000	1,000.00		
THERMOI	B" FOR DÍAG	FANDARD, WI SONALS AND	200.000 HITE, LF	10.00000	2,000.00	6.00000	1,200.00		
THERMO	4" FOR STOP	ΓANDARD, WI P LINE AND	600.000 HITE, LF	10,00000	6,000.00	00000,8	4,800.00		
THERMOI	ED GUIDELI	ΓANDARD, WI INE/ 6-10 GAP		10,000.00000	5,000.00	3,000.00000	1,500.00		
THERMO	0711 11160 PLASTIC, ST E OR SYMBO	ΓANDARD, WI	15.000 HITE, EA	400.00000	6,000.00	500.00000	7,500.00		



**12/01/2023**Page 19 of 22

Letting:	04	231201 De	ecember 01,	2023 <b>Cal</b> l	Order: 009		Contract:	E4X15	
	lo / Item ID escription	Alternate	Quantity Units	(1) ROGAR MAN	OF FLORIDA	(2) WEEKLE PAVING			
() indic	ates item is bio	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0002 S	igning						
	0711 11170 PLASTIC, ST	ANDARD, WHIT	20.000 E, EA	400.00000	8,000.00	150.00000	3,000.00		
		ANDARD, WHIT	20.000 E, LF	100.00000	2,000.00	30.00000	600.00		
THERMO		ANDARD, FOR DIAGONAL	200.000 LF	10.00000	2,000.00	8,00000	1,600.00		
THERMOI YELLOW,	0711 11241 PLASTIC, ST 2-4 DOTTEI EXTENSION	GUIDE LINE /6-	0.500 GM -10	10,000.00000	5,000.00	9,200.00000	4,600.00		
		EFURBISH, WHIT	5.000 TE, EA	200.00000	1,000.00	300.00000	1,500.00		
		EFURBISH, WHIT	5.000 TE, EA	200.00000	1,000.00	190.00000	950.00		
		EFURBISHMENT	0.500 , GM	10,000.00000	5,000.00	2,600.00000	1,300.00		
THERMO	0711 14123 PLASTIC, PF OLID, 12" F	REFORMED, OR CROSSWALF	200.000 LF	30.00000	6,000.00	25.00000	5,000.00		



12/01/2023

Page 20 of 22

<b>Letting:</b> 04231201 Dece	ember 01,	2023 <b>Cal</b>	Order: 009		Contract:	E4X15	
Line No / Item ID Alternate Item Description	Quantity Units	Inits CONSULTING OF FLORIDA		(2) WEEKLEY ASPHALT PAVING, INC.			
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Sign	ning						
0755 0711 14125 THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24" FOR CROSSWALK	600.000 LF	36.00000	21,600.00	33.00000	19,800.00		
0760 0711 14160 THERMOPLASTIC, PREFORMED, WHITE, MESSAGE	10.000 EA	500.00000	5,000.00	550.00000	5,500.00		
0765 0711 14170 THERMOPLASTIC, PREFORMED, WHITE, ARROW	15.000 EA	500.00000	7,500.00	300.00000	4,500.00		
0770 0711 14660 THERMOPLASTIC, PREFORMED, MULT COLOR ROUTE SHIELD	5.000 I EA	4,000.00000	20,000.00	4,500.00000	22,500.00		
0775 0711 15101 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES WHITE, SOLID, 6"	0.500 GM	10,000.00000	5,000.00	10,300.00000	5,150.00		
0780 0711 15202 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES YELLOW, SOLID, 8"	0.500 GM	10,000.00000	5,000.00	10,500.00000	5,250.00		
0785 0711 16101 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"	0.500 GM	10,000.00000	5,000.00	10,500.00000	5,250.00		
0790 0711 16131 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SKIP, 6",10-30 SKIF OR 3-9 LANE DROP	0.500 GM	10,000.00000	5,000.00	3,500.00000	1,750.00		



12/01/2023

## **Tabulation of Bids** Page 21 of 22

Lettin	<b>g</b> : 04	231201	December 01,	2023 Ca	Il Order: 009		Contract:	E4X15	
Line No / Item ID Alternate Item Description		ite Quantity Units	(1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(2) WEEKLEY ASPHALT PAVING, INC.				
() in	dicates item is bid	as Lump Sum	1	Unit Price LL	.C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0002	Signing						
0795 THERM	0711 16201 10PLASTIC, ST	ANDARD-O	0.500 THER GM	10,000.00000	5,000.00	9,200.00000	4,600.00		
	CES, YELLOW,								
	0711 16231 MOPLASTIC, ST CES, YELLOW,		0.500 THER GM	10,000.00000	5,000.00	2,500.00000	1,250.00		
	00	02 Signing	Section Totals:		\$684,850.00		\$1,460,580.00		
		Contract (	Grand Totals:		\$2,900,020.00		\$3,780,182.00		



12/01/2023

Page 22 of 22

Tabulation of Bids

**Letting:** 04231201 December 01, 2023 **Call Order:** 009 **Contract:** E4X15

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.